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FRBF 960 480 240 120 60 960 480 240 120 60
RS % 10040 10040 100+£0 100+£0 10040 100£0 1000 1000 100+0 100+0
WALE  100£0 1000 1000 100+0 100+0 100£0 1000 1000 100+0 100+0
Fo%  100£0 100£0 100+0 100+0 100+0 100£0 1000 1000 100+0 100+0
BL%  100£0 100£0 100+0 100+0 100+0 100£0 1000 1000 100+0 100+0
wE®  100£0 100+0 100£0 100+0 100+0 1000 100+£0 100+£0 100+0 100+0
=% 98+3 1000 100+0 100£0 100+0 1000 1000 1000 100+0 100+0
8% 976 1000 1000 1000 100+0 10040 1000 1000 100+0 100+0
BHLF® O 100£0 1000 1000 100+£0 100+0 100£0 1000 1000 100+0 100+0
M2Z%  100£0 100£0 100£0 100+0 100+0 1000 100+£0 100+£0 100+0 100+0
FwETF 100£0 100£0 100+0 100+0 100+0 10040 100+0 100+0 100+0 100+0
A% 98+3  100£0 100+0 100+0 100+0 100£0 100+0 1000 100+0 100+0
=4 % 100£0 100£0 100+0 100+0 100+0 100£0 100+0 1000 100+0  100+0
&% 100£0 100£0 100£0 100+0 100+0 100£0 100+0 1000 100+0 100+0
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FEEF 960 480 240 120 60 960 480 240 120 60
RS % 10020 100£0 100+£0 100+0 10040 10040 100+0 1000 100+0 100+0
W4ETE  98+3  100+0 1000 1000 100+0 100£0 1000 1000 100+0 100+0
F %  100£0 100£0 100+0 100+£0 100+0 10040 100+0 1000 100+0 100+0
BL%  100£0 100£0 100+0 100+0 100+0 10040 100+0 1000 100+0  100+0
% 1000 100£0 100+£0 100+0 10040 100+0 1000 100+0 10040 100+0
< F % 100£0 100+£0 100+0 100+0 100+0 10040 100+0 1000 100+0 100+0
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HFB S 1000 500 250 125 625 1000 500 250 125 625
BES % 10040 10040 100+0 1000 1000  100+0 100£0 100+0 100+0 100+0
WALE 55428 100+0 1000 1000 100+0  57+25 100£0 100+0 100+0 100+0
Foe% 57421 10040 100£0 100+0 100+0  62+18 100+£0 100+0 1000 100+0
Bi® 57436 100£0 100+0 100+0 100+0  60+35 100+£0 100£0 1000 100+0
% 75422 100+0 100£0 100+0 100+0 75422 100£0 100+0 100+£0 100+0
=A% 3825 98+3  100+0 100£0 100+£0 40425 9843  100+£0 10040 100+0
ATEF 48423 9843 100+£0 100+0 100+0  50+23 9843  100+0 100+0 100+0
B ® 73433 10040 100£0 100+0 100+0  78+29 100+0 100+0 100+0 100+0
MEE 8243 9843 100£0 100£0 1000 85+5  98+3  100+0 100+0 100-+0
BIEF  33+15 82415 100£0 100+0 100£0 44421 8215 100+0 100+0 100+0
&% 32421 73426 100£0 100£0 100£0 33424 88+16 100+0 100+0 100+0
=¥ % 55£20 83£10 100+£0 100£0 100£0 = 58+18 8748 100+0 100+0 100+0
B % 3049 67428 9549 100£0 100#0 = 3049 7316 1000 100+0 100+0
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AR 1000 500 250 125 625 1000 500 250 125 625
B % 10040 10040 10040 10040 100+0 ~ 100£0 100£0 100+0 100+0 100+0
WALE  90+10 10040 100+0 100+0 100+0 97+3 1000 10040 100+0 100+0
Foe% 9248 100£0 100£0 100+0 100£0 9745 1000 100+0 1000 100+0
Bk 90£9  100+0 100+0 100+0 100£0  93+12 100+£0 100+0 100+£0 100+0
% 75£17 10020 100£0 100+0 100£0  95£9 100+0 100+0 100+0 100+0
’S?‘Z?F 88+13 9746 100+0 100+0 100+0  88+13 100+0 100+0 100+0 100-+0
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